
®

     

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016   
 

www.cobrausa.com  

11/08
  ®

 

 

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under  

 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely. 

Items Supplied > 

1 - Set Of Floorboards And Mounts 

Application(s) > 

Yamaha Roadliner 06-14 

Yamaha Stratoliner 06-14 

Instruction Manual > 

Your passenger floorboards will install in just a few minutes using common tools.  Read all 

instructions carefully and completely before installing your new passenger floorboards. 

 

1. On each side of motorcycle remove M6 lock nut securing M6 bolt in footpeg mount.  Carefully hold 

hand under footpeg mounting area to prevent loss of stock hardware and remove M6 bolt.  Slide stock 

footpeg out of mounting bracket. 
2. Insert floorboard mount into mounting bracket and install stock M6 bolt and M6 lock nut on each side.  

Torque M6 lock nut to factory specifications. 

 06-3760 / 06-4760 

DOCUMENT NO.  0019 REV. A 



®

     

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016   
 

www.cobrausa.com  

11/08
  ®

 

 

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under  

 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 - Set Of Floorboards And Mounts 

Application(s) > 

Yamaha Roadliner 06-14 

Yamaha Stratoliner 06-14 

 

Instruction Manual > 

Your passenger floorboards will install in just a few minutes using common tools.  Read all 

instructions carefully and completely before installing your new passenger floorboards. 

 

1. On each side of motorcycle remove M6 lock nut securing M6 bolt in footpeg mount.  Carefully hold 

hand under footpeg mounting area to prevent loss of stock hardware and remove M6 bolt.  Slide stock 

footpeg out of mounting bracket. 
2. Insert floorboard mount into mounting bracket and install stock M6 bolt and M6 lock nut on each side.  

Torque M6 lock nut to factory specifications. 

 06-3760 / 06-4760 

DOCUMENT NO.  0019 REV. A 


